Standortkoordinaten:

Tabelleund Grafiken Marz 2001 Station Eggekamm

Monatswerte: Mrz 01
Temperatur: 26°C
Lj.Mittel:(Driburg 1961-90): 3.4°C
Abweichung: -0.8 °C
Absoluts Max.: 12.7 °C
Absolutes Min.: -5.6 °C
Niederschlag: 80.2 mm
Max.Tag: 9.3 mm
Lj.Mittel(Driburg 1964-90): 97.1 mm
Mittel relative Feuchte:  82.5%
Max. Windb6: 5.6 m/s
Mittlere Wind: 1.3 m/s
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Station Eggekamm
399 m i. NN

Klimadaten

Wetterstation Egge

Temperatur °C

geogr. 8°59°39°0 - 51°41°44 N

399 m 4. NN

Tage mit Schneedecke:
Eistage(Max<0,0°C):
Frosttage(MIN<0,0°C):
Sommertage(Max>=25°C):
HeiRe Tage(Max>=30°C):
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Luftdruck(Meereshdhe):hPa
Absolutes Max.: 1024
Absolutes Min.: 994

Mittel: 1006.1

Marz 2001

Eistage(TgMax<°C):
Frosttage(TgMin<0 °C): 10
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Lj.Driburg: 3.4 °C
(1961-90) 195 mUNN
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Mittel: 2.6 °C
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Luftfeuchte %

Station Eggekamm

399 m u. NN

Marz 2001
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Mittel: 82,5%
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97,1 mm

Gesamt:

Niederschlag mm
Marz 2001

Station Eggekamm

399 mi. NN

Lj.Driburg:

(1964-90) 195 miNN
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Max.: 1024 hP
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Marz 2001
Mittel: 1006,1 hPa

Luftdruck hPa

)

Station Eggekamm

399 m . NN
Min.: 994 hPa
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